IMPORTANT | WFeyo
Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - I (Social Studies / Social Science).
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PART -l /¥F-Ul ()
MATHEMATICS AND SCIENCE / TTRRT3 fawm

Direction : Answer the following questions by selecting the mmcmﬂos{xﬁumprinu options,
gy » fefafad 5e imﬁ%ﬁqnﬁﬂmﬁmgﬁm@
31. Perimeter of a quadrilateral ABCD is 120 cm. If BC=48 cm, CD=17 cm, AD=40 cm and
2A=/B=90, then area of quadrilateral ABCD (in cmv?) is :
(1) 660 (2) 690 3) 7207 (4) 750
fert 99 ABCD %1 919 120 cm #1 4% BC=48 cm, CD =17 cm, AD =40 cm T LA = £B=90°
& 7 =9 ABCD 1 &9%d (em? H)
(1) 660 (2) 690 (3) 720 4) 750
32, Which of the following statement is least appropriate regardmg'ij't;- proofs in mathematics 7

(1) It explains why a particular mathematical result must be ﬁfrm.

(2) It helps to reveal the connections and provide insights.ingo the underlying structure of

mathematics.
(3) It can help the students to validate their own reasoning. .~

(4) Proofs are built on intuitive knowledge and not reasnmng:fj
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33.

35.

o

PQRS is a parallelogram whose diagonals PR and QS intersect at a point O such thy,
OP=(x+7) cm, 0Q=(x+y) cm, OR=20 cm and OS5=16 cm. Then, value of (7y+3) (in cm) js,

1y 1 (2) 23 Y 26 (4) 28
PQRS T waiot wqyfw &, formss fagi PR 317 Qs wrat faig O W wfedz w4 €1 af OP = (x +7) cm,
OQ=(x+y) cm, OR=20 cm 7en OS5 =16cm &, A (7 +5) F (cm H) TAE :
(1) 21 (2) 23 (3 26 (4) 28
(J1

The value of 52x3+4+ Jad1 +?x§§-32+82 12 is :

(1) o (2) 5 (3 15 (4) 21
52x3+4+ V44T +7x3+5-32+8x12 FT WA & ;
(1) 0 2 5 13) 15 @ 21

3 ¢
Arun is three years older than Varun. Eight years ago, g th of Arun’s age exceeded 7 th of Varun's
age by 6 years. If the present age of Varun is x years, then the value of x can be determined by
solving the equation :

5 ! 5 3
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36. The domain of learnip
' that deale wi
& that deals with attitudes and values is known as :
(1) Knowledge domgip
(2) Cognitive domain
(3)  Affective domain
[43 Pﬁ}'[:h[}m[ltﬂr domain
AT F AT G - s A .
RARCL ks EE & 9 3 e £
(1) TR ,
(2)  HaeTE A
3) VTS A .
(%) (4), TR &9
37. "I'hu. height and base radius of a right circular cylinder are 9 cm and 6 cm respectively. If the base
radius becomes half and height increases by 3 cm, then which of the following describes the new
volume of the cvlinder ? :
(1) The new volume will be twice the original volume.
(2) The new volume will be half the original volume.
(3)  The new volume will be thrice the original volume.
(4)  The new volume will be one-third the criginal volume.
farsit wfa et Se %1 St i s foen e 9 em 3T 6 om 1 Afe smm i sl = T AW
T 5o § 3 cm F Fip F A T, @ 9 A TR W G F QST FSAA AT
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Arrange the follow

ing state
Ve g statenu

F 2ils accordi ‘ ' o 'o = inki
Hiele's theory of geome ding to ascending levels of geometrical thinking as per

trical learning,
(@) Identification of properties of y

(b) H

(€)  Findi lati i

{ :} lﬂd'l.l"lg l'i.lﬂl]ﬂl"l.'ihlp bE‘th‘l:‘ﬂ Lthe Pn_\l_‘ﬂ_'l‘liL’Ei of peometrical thlr‘lu.‘i
¢

Identification of geometrical shapes as they are
Choose the correct option :

M) @, ), (@, @
3) @), © (), @)

vomeltrical shapes
Classification of different shapes

(2) (d), (b), @), (c)
A : ) (@) (), (b), (d)
fwﬁmaﬁmnﬁ?mmﬁ;mﬁﬂﬁwﬁmm#rw' i & & arirdl T | wE e

(a) iR s % i 9 e
b) o= sl & arfiwo
() ol Srpf % il % < day e
(d) i sl =, 39 A 3 = =
T e 4
(1) (@), (), (©). (d)

2)  (d), (b). (a), ()
(3)  (d). (c). (b). (a)

(4) (). (). (b), ()

39. Ina pie chart, the marks obtained by a student in Mathemaltics, Science, Social Science, Hindi and

English are respectively represented by sectors of central angles 90°, 80°, 65°, 75" and 30". If the

total marks obtained by the students were 540, then what is the difference of the marks obtained
by him/her in Mathematics and English ?

(1) 60 (2) 50 (3) 40 (4) 30

Eqﬁﬁﬁﬁ,ﬁﬁ!fﬂmﬁmﬂfﬂm,ﬁaﬁ,mﬁﬂifﬂﬁﬁ.ﬁﬁﬁ?ﬁﬂﬁmﬁﬁﬁmzmzmﬁ
65°, 75¢ $iR 50° B e Fi el o wE g Frefa e € 7z ¥4 fawmedt WA F@ HF 540
8 A TE gm T ST i § W i & S A7

(1) 60 (2) 50 (3) 40 w30
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40.

41.

42,

98084581

Which of the following topics have NOT been included

At upper pri
under number sygo 2" 2 Per NCERT,

(1) Complex Numberg O
(3) Exponents and (2 Fractions
Po et
NCERT & IR, i “p Square roots and cube roots

Ea . !
iy T 7 R W, S S 3 s, et 4 28 o e

(1y af=s Y N

(3) Wi s T
)" aga s ae

Which of the following statement is NOT
(1) Rubrics has a fixed scale,
(2) Rubrics

correct with respect to Rubrics as a tool of assessment ?

has a list of characteristics describing performance for each point on the scale.

() Rubrics consist of a clear performance target for students.

(4)  Rubrics make evaluation more sul-;]r:sgl;ive.
mﬁﬂﬁ?mmmﬁ%ﬁ'm#mﬁmiMHﬂﬂﬁt?
(1) % 7w ffvm Smmam 21 o

(2) e & A T g v 2 e e fds 5 g A &
() i & e 3 fore o e wdw e g
(4) € qEiE ® S SR T g

The number of faces (F), edges (E) and vertices (V) of a polyhedron are 7, 15 and x, respectively,
Then, the value of (2F +3E—4x) is:

(1) 20 2) 19 (3) 18 @ 17
Freht g & e (F), fFd (E) aﬁtﬁ';lﬂ (V) % H@a] F99: 7,15 3 x §1 T, (2F + 3F - 4v)
FUAL: ot

(1y 20 (2) 19 (‘fi (3) 18 4) 17
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43. If (2x+5y)>—5(2x + 5y) - 14 = (2x + 5y + p)(2x + 5y + q), then the value of (p+q) is :
1) 7 2L — 14 (3) 9 @ -5
AT (2x +5y)2— 5(2x + 5y) — 14= (2u + 5y + pH2x + 5y +q) &, A (p+q) F AAE :
1 7 @ - 3) 9 4) -5

4. Two Fe_lrallel lines are intersected by a transversal and the two interior angles sO formed on the
same side of the transversal are (2x+15°) and (3x—20°). Then, the value of (4x+ 6") is :

(1) 154° (2) 150° (3) 148° (4) 146°

w o T 2 wEi T A v S A T YR fade e F o @ s A @ FHa: &M
(2x +15°) 3T (3x—20°) ¥ aar%?wﬂ) FAAE

(1) 154° 2 156°) (3) 148° (@) 146°
5
=,
L) . 6 .3 3 8
45. The sum of the largest and smallest fractions among —, 2%, = and 2= is:
@) 7'°5" 8 15
@ a7 7 .39
M 23 @ 2% @ 25 @ 25
i 8 22 2 aiw 2l o aa ad ol gl 9 il T AR
7“5’ 8 15 O
L)
9 87" 7 239
1) 23 2) 2@5} @ “35 41 5
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47.

im i
(1) Itis evaluation Ply the mEamnE%assessment ?
(2)  Tthelps to label the Students %

It hel i
Ps to diagnoge individyal differences, i
(4) Itisa Procedure tg gather A

information of shﬁéﬁt’ s performance.
R S ¥ & T 2
(1) =& i &

() ﬂﬁﬁuﬁq‘faﬁrmamﬁﬁnmmh
(3)- wmﬁmfmﬁmﬁmmﬁmmél

(4) ﬁﬁmﬁ%mﬁmm@ﬁammq%ﬂil

-
. o o0
Which of the following is NOT an indicator of cregkti:vgl‘y in Mathematics ?

(1) Students use convergent thinking in differerit ddntexts.

%
e

(2) Students are able to think flexibly.
(3) Students use multiple and alternate problem solving strategies.

(4) Students can pose questions.

Erefifiaa § | 3 i § EATHET F1 Yhawh T4 8 7
(1) ﬁmﬁﬁﬁﬁﬁzﬂﬂﬁmﬁmﬁrﬁmm‘ﬂmﬂ@h

(2) foremefl el | H WS E %3
o mﬁﬁﬁqmaﬁﬁqﬁmmmﬁmﬁj@ﬁwwm%u
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49.

50.

Ifxis the [east number which must be addi‘l.l o 935 to mﬂkﬂ ita Pprfe':t square, then value of 1'1‘__.

is equal to A
“J 20 2) 14 (3 11 4} 5
A% 955 3 S8t 13wt ¢ i s e #, 50 31 T QA A A A & A e 2 A A,

1) 20 (2) 14 @ 11 (4) 2
)
How many natural numbers between 1 and 500 are divisible by each of the numbers 3, 3 anj,

1) 3 2 4 3) 5 (4) 6
1 31500 % et Wit foreeft Wi weed €, o WS 3,5 s 7 6 & e | faved €2
1) 3 2) 4 (3) 5 @ 6

T —

L]

X : .
According to National Curriculum Framework Zﬂﬁw}'hich of the following process is lgaq

important in mathematics 7
= .:j-
(1) Solving day to day problems. O
(2)  Understanding when and how a mathematical @Tﬁque is to be used.
ot
(3) Finding short-cuts in mathematics. C_."*

(4) Generalizing a mathematical formula.

U AT w9 2005 ¥ AR FrefataEa § 4w o wfEm i § wel w1 wes @

(1) T wfafem =t smensdi =1 Foum F@0

(2) I waEAl fR i a1 STEm Fa R A fE -

T eHe Gl 0
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51.

52.

53.

54,

M is a point gn Side AB

. f -
reSPECtiVely x and 707, thep g | 2"81€ ABC such that AM=BM=CM. If angles A and B are

(1) 70° @) f value of (3y 4 25%) is equal to :
el i ABc = & 85 (3) 100° @) 115°

w0 x 3 7 § Anm‘hl"ﬁféimmﬂmatfafnm=ﬂm=cm g1 afzwm A sl
(1) 70° ' {3“?‘50}@@ LS
(@) 83— (3) 100° () 115°
QXJ
2 years becomes T 3,267, when the interest is compounded annually.

What will be the simple ;mem‘i:éﬁ the same sum at the same rate in 21 years 7
i ."':: 2
(1) T 625 (2)

A sum invested gt 10% p.a. for

T 650- (3) 2675 @ T700
10% =h =0T F30 1 1 s e 2 4 25,267 @ TR &, = e W A #) =R

1
RURI R L 2 = feferen Amon = @ ?

(Ly T625 (2) T 650 (3) T 675 (4) T 700

D is a point on side AB of a AABU such that CD is the bisector of ZACB. If ZA=5(° and ZB="70°,
then ZADC is equal to: Q’f’)

(1) 30° (2) s (3) 70° (4) 100°
faelt i@ ABC 1 Y= AB wef&n D v faig 78 WaR # i CD, v ACB T Fwigvers &1 3f
ZA=50° 3R £B=70° %, @t zADO-TT #

(1) 30° (2) E-ﬂ:":ﬂ ) 70° (4) 100°
L

Marks obtained by some studenis of a class are 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 and 35.
The difference of the mean and the range of the data is :

(1) 4.5 2y 5.0 (3) 5.5 (4) 6.0
st e 3 F@ faenfddl g W FHF 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 3R 35 €|
= sitel 3 TR iR AR AT ¢
1) 4 5 2 58 (3 55 (4) 6.0
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- TR
N

e the cost price. If he gelh‘

55' A trﬂd{!l' b’u ' 1
fans by givisn lf}ofﬂns for ¥ 24,000, He marks cach fan at 25% above the cost p
) & 0% discoyn} on the marked price, then his overall profit (in T)is:
1 7 -
4), 2700 (2) 3000 (3) 3200 (4 3500
EWI:{% T 24,000 ¥ TitEA §1 A W i 1 IE FAYE 4 25% ajﬁﬁm #ﬁﬁ!a:m‘
% T el ) 1% ) e g A E b, A B frereR Ew ()
(1) 2700 (2) 3000 (3 (3200 (4) 3500
@-b+c) —(a-b-0?2
36. L]b h=b—0 is equal to :
—da
(1) b-c (2) c-a (3) —dc ) 2c
—_—
@—b+c)? -(@@a-b—c? o0
2, Eﬂﬁ-{% H i _:h'l:
b—a s
el
(1) b-c (2) c—a (3) =4 @ 2c
o0
57. Areaof a right triangle is 240 cm?, If its one side nﬂ::r‘ﬂun the hypotenuse is 30 cm, then perimetr
(in cm) of the triangle is :
(1) 80 (2) B84 (3) 92 (4) 100
Foreft AT PN F AFEA 240 cm? ¥ afe i F-STfafra SEE UH Y 30 cm # @ 3W AET
ufm (cm #) o0
L
(1) 80 (2) 84 (3 <92 (4) 100
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Direction - — i
%ﬂ on: Ansuer fhe following questions by selecting the mm'l‘fﬂmm
= | T gk % e 22 % forg vl e T frne G
. (A) Metalg N

62,

63.

xidl-}ﬁ are h' o
B : asic in nature.
ECI; A.“ “Xpands on heating, (O
(D LEm.F Water turns milky on passing; cdrbondioxade.
) Sodium hydroxide and hydrochlone acid neutralise each other.

If observation is represented by O and infercice by [, which of the following statements s Oy
(1) O-C D;1-A.B ' M O-BCI1-AD

(3) O-Ci1-aABD (4) O-ABI-BC

(A)  9-ifeage vt § st i o

(B) A md ¥ wr St & o

(C) =TT Tryaifamme way (S W) ST Hi TR gt 8@ = 2

(D) wifsm srgimms @ sreiEeife o U ga Hi 33 F 3 ¥

T SEEHFA O gr Fiwfun & v | gy svearen (Frepd) & @ Frefefea & @ FR-T F w@
(1) O-CD;1-AB 2) O-B,Cl-A,

By O-CI-A,BD (4) O-ABI-B,

Which of the following is not a feature o@mﬂte conceptions in science ?
(1) Ideas are stable.

(2) Ideas are resistant to change. oo

(3)  Ideas are developed from observablé Teatures.

(4) Ideas do not demonstrate cause ang-gffect reasoning.

Freferfian & & w1 form 3 dfes smuonsl 1 frsradt 78 2
(1) famferd@@e i.fi

(2 Toam uitads wfodedt & €

(3) fa=m ey faimas | fasfad 2 €

(4) faam, @mw st g 7F 1 Wi 79 w1

1-A,D
I-B,C

Read the statements given below and choose the correct option :
Assertion (A) : It is recommended that acid should be added to water for diluting the acid an:

not vice-versa,
Reason (R) : Dilution of acid is a highly exothermic reaction.
(1) Both (A) and (R) are true and (R) j explanation of (A).
(2) Both (A) and (R) are true but (R) w correct explanation of (A).

3 A) is true but (R) is false.
Eﬁi; Eilin:h (A) and (R) are false. =)

Freifafiga el &1 Ten s Al I F i
e (A): 7 A & 1 30 @ 8pa ¥ for o & s e W ity A iR o E T
& (R): e F e (T[E) F B &Y @ e sfvfE ¥
W (A) 3 (R) 2 T E A (R), (A) RUGE = §

(2)  (A) 3i (R) 2l 6 E 9 (R), (A) HHRE e @ ¢

(3) (A) @ & 7 (R) T R

(4) (A) s (R) <F e

il 1 E T 2



64.

65.

66.

Read the statemenjs
Assertion (A) : Th
Reason (R) :

iven
given below gnd choose the correct option :
€ rate of breathjn

& In aquatic animals is slower than i
Presence of Jay quatic animal land animals.

&€ amounls of dissolved oxygen affects rate of brea thing of aquatic

1) Both (A ' R
( ( } and (R) are true and (R) is correct :_tplanatir:m of (A).

(2) Both (A) and (R _ expl
(3) (A)is true but[ {[i}a;:fzzs but (R) is not currfc}?.?xpianaﬁon of (A).

(4) Both (4) and (R) are false. <3
mmﬁmﬂhﬂﬁmmwmﬁ}
::aim(m: Wmﬁmﬁaﬁqmﬁgmﬂtﬁtﬁﬁﬁﬁ%

M): % e g it 7 3w i o 9 v A o 2
(¥ (A Sfﬂ (R) =i 5E1 € qen (R}, (A) F w rrter 1
(2) (A) T (R) =R WE1 & g (R), (A) 1 W) e T B
(3) (A) W& ® W (R) e £
(4)  (A) 3 (R) Zrii et #

Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.
Reason (R) : Sound waves after striking a curyed.surface get reflected in all directions.
(1)  Both (A) and (R) are true and (R) is correct explanation for (A).

(2)  Both (A) and (R) are true but (R) is not curﬁeﬁr’gexp!anaﬁon for (A).

(3)  (A) is true but (R) is false. L{ ]

(4) Both (A) and (R) are false. o

e (A):  form = sin wia game o a:"r@ﬁﬁrrnwa afa et T

T (R): T afd F F z & v A e wi femel § st & e g
(3 (A) 2R (R) I =@ ¥ 3w (R), (A) F1 T sum% |

(2) (A) ¥R (R) I FE@ E T (R), (A) FHE ST R

(3)  (A) W&l & W (R) e 2

4) (A) 3R (R) I T €

Which of the following is/are true regarding scientific investigations ?
(a) Results are not influenced by procedure, |

(b) Social context may influence conclusions in any. investigation.
(c) Data and evidence are same. =

. iversal scientific method. \ H
D @ad®) @ M@ 0. @ ©@ad@

ﬁnfﬁﬁaﬂﬁﬁaﬁhwﬁmmﬁ‘wméﬁﬁﬁnﬁm?

afm ffiq gron wefara T @ € )
g; Waq?uﬂmﬂwﬁmﬁﬁmﬂwm:ﬁm%l
(c) aﬂﬁﬁaﬁ‘ﬁm&ﬁ(ﬂﬂl)mﬁ#ﬁ%‘l .

e (i) dtr T T

EaE ( ) & ‘ )

S: ()a?ﬂ(b} @ IR (3) (2 #M (o) 4) () 3 (d)
a :
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ct options

B e MR given below and choose the corre
is made up of tungsten.

Assertion (A) : The filament of an incandes¢efit bulb
Reason (R) :  Tungsten has low resistance(ahd high melting point.
(1) Both (A) and (R) are true and (R) s corfrect explanation of (A).
(2) Both (A) and (R) are true but (R) i notlcaetect explanation of (A)-
(3) (A) is true and (R) is false. :

(4) Both (A) and (R) are false.
AR (A): T AT wed &1 9ag (7d) FTe o & B €
& (R): v o o WY T I T @€

(1) (A) 3R (R) i = € 790 (R), (A) = e =mE |

2) (A) 3 (R) T W& € T (R). (A) # g& == T ¢

(3) (A) ¥é ¥ I (R) T )

k|

" =
\J

»

@) (A) #R (R) Zrl e € oo
-

68. Three identical holes are punched at differentl]g%réls (heights) in a plastic bottle. The bottle is filled
with water. Which of the following stateme ts is true regarding the flow of water from the
holes ? T
(a) Water from lowest hole comes out wim’,EiEhtest force

(b) Water from highest hole comes out with-greatest force

(c) Water from all holes comes out with equal force
(d) Water from lowest hole falls at maximum distance
(e) Water from highest hole falls at maximum distance
() Water from all holes falls at same distance

(1) (c)and (f) (2) (a)and (¢) {8) (b)and (¢) (4) (a) and (d)
ﬁmﬁzﬁﬂmﬁﬁfw—fﬂﬁmﬁ(ﬁﬁ)?;ﬁm (uEey) T 9T feg e A AT
ﬁmmlﬁnﬁ#ﬁaﬂﬁﬁmmm%ﬁﬁwﬂﬁgfm)m%aﬂﬁﬂﬁ%?

(a) ﬁmmﬂvﬁﬁmﬂaﬁﬁmaﬁ;@m

(b) S 9 A TFT SR @@ & WY AR A

() mf @ & O T w9 e S ‘3‘;
) Frewm 95 & st g w R ==

(e) T 92 @ O a3 W e

() wft ¥ A o wmE g W e

(1) () ¥ (f) ® Ja) () (3) (b) 3 (e) @ (a) ()

'P. i
gl LY AT =



69.

70.

71.

72.

Which of the fol]nwmg characte
(1) open, single circulation
(3) closed, single Circulation

rizes human Girculatory system ?
(2) ° /n, double circulation
(4) dosed, double circulation

frefafaa § . i
ﬁwwwmﬁﬂ%m,

(1) T8, e v By e et
(3 ¥, T g G, feverd
b (4) Eq_;rfgmrﬂ

A class VII teach L
plants and anjm:éplm 1o identify alternate conceptions of students in the topic ‘Adaptations in
- Which of the following sets of strategies is best suited for this purpose ?

(1) Drawings, checklist, interview

(2)  Portfolio, group discussion, diagnostic questionnaire

(3)  Diagnostic questionnaire, interview, drawings

(4) Project, checklist, drawings E—

1 VI T Faveeh ' vl 3i sfa-sigeil 4 G’ w0 faenfeial 91 dfeas srmvmonsil =1
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Which of the following is not caused due to excessive use of fertilizer and pesticides ?

(1) Soil erosion (2) Nitrification
(3) Eutrophication (4) :Eig:maglﬁficaﬁon
zﬁﬁmmaﬁm%mﬁﬂhﬁgﬁﬂmmﬂﬂﬁm%?
(1) T TR 2 ?Fgﬂﬁm
4) 4 IEdA
(3) | ( B
-

An odometer in a car measures :

e
(1) distance travelled by the car (2) @Pntanmus speed of the car

(3) average s peed of the car (4) acceleration of the car

s T S A €
(1) mmaﬂﬁﬂé@
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